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oMEBAD BELY
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750,000 * 110 2+ 128 99,000
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OBZAEE QX2 E A
20,0008 *5% 32 *8 2 2,400
401 Al HIZL 2L 515,000 300,000 215,000
01 Al&t] 511,022 297,840 213,182
OBZX HYAEE X 2
400,000,0002%99.28/100 397,120
OFQ X EHIDIIAIY
35,000,0002%98.92/100 34,622
OEEES £YASA =DXSE ALg &
bl 80,000,000 *99. 1/100 79,280
03 Al O] 3,978 2,160 1,818
OBZX BHYAEE RX 2
400,000,000 %0.72/100 2,880
OFQ 2R EHIDIAI
35,000,00024*1.08/100 378
OEHE £YASA =DXSE ALg &
bl 80.000,0002x0.90/100 720
2ZAES WA 200,000 300,000 £100,000
401 Al&HIZ S OHHI 200,000 300,000 100,000
01 Al&t] 198,560 297,840 199,280
OZZAILS Hu
200,000,0008!%99.28/100 198,560
03 Al& =il 1,440 2,160 AT
OBZAILEE Nu
200,000,000 0. 72/100 1,440
Z™0i2| JUIAMY 100,000 40,000 60,000
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01 Al&t] 9,100 39,568 59,532
Osgctel Fyl 100,000,0002%99. 1/100 9,100
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Z2HEAl Plah MDD (LD 2SHE /2B E ) 793,970 518,610 275,360
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MICE JlEt =5 & &4 693,970 518,610 175,360
201 LEt2AY| 149,200 158,000 A8,800
01 AF22t2|HI 43,200 48,000 A4,800
Ogbt42Y| 36,800
oMICEASE X EEZS MHZ
1,000&%10,00052 10,000
oMICE SX EEYAH(ES) ME
10,000,000 *13] 10,000
oMICE EEE2E H&E 10,0002 *1,0007H 10,000
oMICE &2 ZDHHLA K=
500, 000 «2JH 1,000
oMICE E8 Xl AIE2ZE
400,000 =128 4 800
oMICE E2X &0 1,000,000& x 14! 1,000
[@F=3:-E=, 1,400
SOIOIAMSXRALARS] 3|9 &A £
00,000 x7H 23| 1,400
O x= 5,000
oMICE SX| 2t S XA AIE =5XHE Xt
500,000 %103 5,000
03 SHAIZHHI 106,000 110,000 24,000
OO 2= MICE =& JH= 40,000,000 %13] 40,000
SHOHOE MICE HE Al E3F SHAF JHE
30,000,000 %13] 30,000
OXSE3S MICE d2F2s s L HEHX
249 20,000,000 * 1Al 20,000
O=2LH.2 MICE Xl HEW L HAHS| HE
4,000,000 *43| 16,000
202 O4d| 20,370 23,610 N3,240
01 =AY 8,370 11,610 A3,240
OMICE &iAF X EE2YR =&
110,000 x2H 3 33| 1,980
O=UHE2l, MICEAE &AIS S &It
110, 0002 x3H 3 x33| 2,970
OXNYSEsH MICE SHAF JHEl S0 2 &0+t
2 =X 110,000 +3H x2 2 x33| 1,980
OMICE X SXIAAMS AL OHY & =82S
= 20,000 *3H 2 « 122 1,440
03 22 204H| 12,000 12,000 0
O0dH2l MICE SHAF &I & =2 OIAE
12,000,000 x 14! 12,000
203 E2=&Ib| 2,700 3,000 A300
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Rl goletd OholAAe M= Al S4 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A=A RN 2,700 3,000 A300
OMICE |XI 22 IREg: =&
2,700,000 %14 2,700
301 EtE2 NS 501,700 314,000 187,700
09 2B =AY 51,700 64,000 212,300
O=U - =HM=le &AMt =F 048I
110,0002 x30H *52(x 1 16,500
O=LUH - 2 MICE At EIHAH =& 04
110,000 x80EH x2 & +23] 35,200
14 IIEt2 83 450,000 250,000 200,000
OMICE(Z12]) Izl IMIEIE XI&
400,000,000 * 14 400,000
OMICE(MAIE], S3t319]) Mzl ClIMEIE X
50,000,000& »14! 50,000
401 AlEHIZ SO 20,000 20,000
04 A2 S AIEH] 20,000 20,000
O=U - 2 MICE =t&al Eotoll HE JAIRA
&X 20,000,000& *13] 20,000
st=2dsts DMst=al |1 2 N 100,000 100,000
307 el2to| & 100,000 100,000
02 2IZHBYAIHE A 100,000 100,000
O2024d st= 2rZsts| M=z | &
& 100,000, 0003 * 14! 100,000
Y2 AU (22 1) (DIEHIIE 163,655 183,727 A20,072
el 2| 70,608 67,687 2,921
el 2dd| 70,608 67,687 2,921
101 @12A4H| 70,608 67,687 2,921
02 JIEtME = 6,625 6,514 111
OFEZE A2 RFE =2 6,625
o= 9,685 x1H+57 A2+ 123 6,625
03 SR (RIH )22 U2+ 63,983 61,173 2,810
OAltRAZ 25 45,697
oZFN ST
14, 10429 +20A| 2H+ 123 +150% 45,697
O ] 18,286
o @otHIOtE2e A
141,1202x1&+30 4,234
oZZOHNH 175,640 x2EH 40 14,052
=34 93,047 116,040 A22,993
Jl=23H] 93,047 116,040 A22,993
201 Ler=23 | 55,832 71,270 A 15,438
01 At2teltl 42,881 56,879 13,998
Odit=ZH| SHAY
18,286,000 x 14 18,286
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